Additi

Ohbjective

Concrete

Pictorial

Ahbstract

Comhining
wo parts
Lo make a
whole

Use cubes to add
two numbers
together as a group
orin a bar.

O
QB ‘B ﬁkﬁ
$$$
¢ ¥

L+ 3=7

Four is a part, three
is o part and the

whole is seven.

Addend + .addend =
UM
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r 7 =4 + 3
0000
Counting 12 + 5 =17
,OILJLDOJTL 12+5=17
the |7 =12+ 5
uumber I 1I{] 1r1 12 1:71 1:l 1I5 1;5 11.r 1r3 1'9 1Iu L + 2 = 6
4 ? 6 = 4 + 2
&
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9+ 5 =14
A+ 1+ 4 =1l4

7 + 4 =
7+ 3+ 1 =1l

If I .am 7, how
many more do I need
to make 10? How
many more do I need
to add .on now?

I
|

Can I wse my rumhber
bhonds?

Can I x,ag,r,ou.p.?

Regroupin | ©*° eee
ﬁfomM& !!!l‘a Ce——— v LALIL
e
,_EN
6+5=11
O
O
349=
9+5=14 2
fm— %
Adding 4+7+6=17 ﬁF?
thuee Pu:; an:-s together to make 10. Add on 7. 5 5 + gﬁ.ﬁ + ﬁ‘ﬁ‘ ﬁ‘
single —e— 4 & &
SaCaal o m— IS8 | g8
S eee— *
Fosss S5
Add together three groups of objects. Draw a
picture to recombine the groups to make 10.

447 +6)= [10/+[7]

10 =
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24 + |15 =7

Newburgh Primary School

Column 24 +15= | = = =
,a,d,dj_,fj_,on - Add tcugethnl.ar the ones first then add the tens. Use the Base 10 blocks first m é:l O — 2 O + , O = 3 O
P oy . before moving onto place value counters. —
Jaurtitioning U 4 + 5 =49
to add . o | © | ® e 30 + 9 = 39
wiitho, 1 ———
OO OOOIIOD |gesm QEEE 0000 e "
T [eEmEs 0]0/0/0.0) + |5
39
455+ 103 =558
Column Make both numbers on a place value grid. Children can draw a pictoral representation of the columns and place | Looking for ways to make 10
o value counters to further support their learning and understanding.
addition - o o . 36+ 25z 30-20-50
. o | L4 A 5+5=10
wWith Add up the ones and _
. & |2ee .-.. - + 527 exchange 10 ones for one L == . . . ' 1 5 50+10+1=6l
regroupin 10 ° ® o9
(Year 2+) | ©© | | 20 + 5
*® g9 e |(*° .
& & [ ] 146 a9 & P 1 =73
o W 13 =73
® (0000 eee . 5 |
;'! 5
gge|ee /71 5 1 o
e + 83
» 021
Add up the rest of the columns, exchanging the 10 counters from 11
one column for the next place value column until every column has
been added.
This can also be done with Base 10 to help children clearly see that
10 ones equal 1 ten and 10 tens equal 100.
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Subtraction

Ohjective Conrcrete Pictorial Abstract
{ se physical objects, counters, cubes show how obj can be ross out drawn obj show w as n n AWay. - -
TM tL.laheﬁmw_ ject nte et to jects C ut d bjacts to sh i hlath been taken away F:
OO ONRA. Py &5 AV JAVAN
000  e-2:=4 AAA A2 Tlza4-3
IO LAl /r/
oo
- 15-3 = [12]
o0
Children to draw the concrete resources they are
using and cross out,
% -
i I I [
Use of the bar model:
i
3 | 7
Newburgh Primary School June 2024




Counting

Make the larger number in your subtraction. Move the beads along
your bead string as you count backwards in ones.

CSeeenssere
Ce——— v

13-4

.
qaun

Tolafs|s e
eL

Count back on a numh-e“ine or number track

C NN
? 10 11 12 13 14 15

Start at the bigger number and count back the smaller number
showing the jumps on the number line.

=1

=10 L
T
ol o-l \
24 X5 A6 37 47 37

This can progress all the way to counting back using two 2 digit
numisers.

A
0123456789%

A
4 6

Six subtract four is two.

Minuend - subtrahend =
difference

Find the .5 Count on The difference hetween
fference | N—— — S |8 and 6 is 2.
ittt
w 1] 2304 5 6 7T R 9 10 M2
Children to .also
Comparison Bar Models

Drraw bars to find
the difference between 2

Liser is 13 years old, Her sster 5 27 years oid,
Fnd thae diference in oge befwean tham

numbers. 13

explore why 9 - 7 =
8 - 6 (the difference
of each digit has

changed by ).
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Children to drow the cubes/other concrete

objects which they have used
PO H AKX,
ORI AA,
Use of the bar model
T
I .
C'OW | e | ® | oom| 0 . Gl ?7 7 3
prewi ° losgoee T S Sl
without | 176 |= 2.
: & o [Fessnnnnnsl L = Z. O
regrouping | — RGN
Use Base 10 to start with before moving on to place value counters. Drraw the counters onto a place value grid and show what you have - 1
CIO,LUJYU'L Start with one exchange before moving onto subtractions with 2 taken away by crossing the counters out as well as clearly showing ! 3 6 S 2 5 !’-’ 5 82
WMA exchanges. the exchanges you make. : 4
JVV/LU'L Make the larger number with the place value cou nters ’36 6
regroiping ® ® | Caulanons 200 50 &
(Year 2+) 2 4
@00 (o000 = = 80 J
i rr —
Start with the ones, can | take away 8 from 4 easily? | need to ? 2 8 -5 82 = ' l*‘
exchange one of my tens for ten ones. " P 5
o] 5
@ | | _ Calculaticns 1 2 8
00 |[ee0® | ¢ <
00000 1 ik 6
00000 |
June 2024
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Now | can subtract MYy Ofes.

® @

00 |0® |eee® 2
o0 | —B8_

Now look at the tens, can | take away 8 tens easily? | need to
exchange one hundred for ten tens.

@

ele o000 = 2
oololool'Y ) |- 88
100 0010 |

Now | can take away eight tens and complete my subtraction
®@ | ® 5
® QOO0 %'Q

OO :
[0XO] W

show children how the concrete method links to the written method
alongside your working. Cross out the numbers when exchanging and
show where we write our new amount.
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Multinlicaki

Objective Concrete Pictorial Abstract
DD ! ! . Draw pictures to show how to double a number. Ear‘tti;tlinn amnumr;:fzdﬂm
/. B 16 r:;nfh?:ing I':tahad: mrgeeﬂuer.
Double 4 is 8 / \
' 10 6
douisle 4 . ... . . . l %2 x2
4 M=
U 20 12
Rzpzatzd, Repeated grouping/repeated addition Children to represent the practical resources in 3 x4
. (does not have to be restricted to cubes) a picture e.g.
addition 3x4or3lotsof 4 XX MK XX
‘ XX XX XX L + 4 + 4
Use of a bar model for a more structured )
method Abstract number line
= . . . ' . . ' ' 3 x4 =12 ‘
*® 00 --‘ [éf“vﬁ$¥f§\4
Represent this pictorially alongside a number line f 4 L3 |1J

s3fasfz

E.Q:

o0 L X 00
0 4 8 12

| ] -] -]

PRI " ¥ T T P T - 5+5+5=

0§ 2 3 & % & THE R 003 B2 I3 OIS

Thare & 3 plates. Each plabe has 2 shar Discuis on. How many bisCuts ana e

2 add 2 add 2 equals &

Newburgh Primary School

June 2024




: AILGAJ/S.' ==== 4220 5+5+5=15
LOJluzlqu) 4 Ind4=8 3+3+3+3+ 3=15
8 5x3=15
oo Ro=
oo 3x5=15

Draw arrays in different rotations to find
commutative multiplication sentences.

G‘I -[ :l WA Show the link with arrays to first introduce the grid method.

X 30 5
210 35

(XQXJI 3+) X 10 3 4 rows of
4 rows of 3

~N

Maowve on to using Base 10 to move towards a more compact metho

210 + 35 = 245

» T J 4 rows of Moving forward, multiply by a 2 digit number showing the different
rows within the grid method.
| EEE
| |
| ooo 10 8
[ || g .
10 100 80
3 30 24
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Move on to place value counters to show how we are finding groups
of a number.We are multiplying by 4 so we need 4 rows.

. Caloulations
4x126
Fill each row with 126.
|
®@ @ ® p—
[OM(00) | 4x126
=) [cays
»o wy e E
— SIS !

Add up each column, starting with the ones making any exchanges
needed.

@ 6 0]
[C(C0[00]
& |00
o1

Then you have your answer.

@@Eg

2
poee e

Column Make 23, 3 times. See how many ones. Children to represent the counters in a Children to record what it is they are
multi o licatio then how many tens pictorial way doing to show understanding
O] ® Tens Ones 3x23  3x20=60
n 50 [0ee 2k ~ N a0
Oear ) | 10O 1008 ‘v 0 e
CIoMN Y Y 1 e 23
x 3
69

Newburgh Primary School

June 2024




Newburgh Primary School June 2024



Divisi

Ohjective

Concrete

Pictorial

Ahbstract

Sharing

Groups

Ii’-“fc! l&'é

| have 10 cubes, can you share them

QJOQ llyin2 ?

Children use pictures or shapes to share quantities.

8+2=4
— .
|'IKS - \:| -’6 [ m-,
) e A
o/ '-\:" /'

This con also be done in a bar so all 4 operations
have a similar structure:

6:2=3

What's the calculation?

3

3

Newburgh Primary School
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Division

Grouping

Divide quantities into equal groups.
Use cubes, counters, objects or place value counters to aid
understanding.

96 +3=32
o8 02 o8
0® o0 e

I OOOOOI OOOOOIOO... I AL Ll L] l eoone |..00. l..... l

OlO

1

Abstract number line

0 5 10 15 0 % 0 %
R W\ X
'frﬁﬁ' ﬁﬁﬁ ﬁﬁﬁ

Use a number line to show jumps in groups. The number of jumps
equals the number of groups.

o 1 2 3 4 &5 B T & 9 10 11 12
| [ L
I —

3 3 3 3

Think of the bar as a whole. Split it into the number of groups you are|
dividing by and work cut how many would be within each group.

Newburgh Primary School
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Division 14+3=

Jump forward in equal jumps on a number line then see how many
XA 2 3 more you need to jump to find a remainder.
. Divide objects between groups and see how much is left over v jume
with a

29 - 8 = 3 REMAINDER 5
remainde

; " | I 1
/ \/ \/ \5 dividend  divisor guotient remainder
?Yza,r ‘; “ : i
| e BE
&

Draw dots and group them to divide an amount and clearly show a W
remainder.

1 0161010k B

Use of lollipop sticks to form wholes

—

4 =4 -y -4

et S e et e N R e

CIPIOO OO!OO O(Z)lOO OOI}
| |
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Short
Adivision
(End of

Apeaur L+)

3

Use place value counters to divide using the bus stop method

alengside

Tens Lnits

3 2

Qe ee

QO 0@

OROJOREN N

CICICIONER L

Start with the biggest place value, we are sharing 40 into three
groups. We can put 1 ten in each group and we have 1 ten left over)

41 +3

We exchan
this ten for te
ones and then

share the ong:
equally amopg

the groups.

000

10

We look how
much in 1

Eroup so the
answer is 14

3

Tens Linits

3 2

Qe ee

GO 0@

e 00

Use place value counters to divide using the bus stop method

alongside

QeO0 ee

42 +3

Start with the biggest place value, we are sharing 40 into three
groups. We can put 1 ten in each group and we have 1 ten left over.

We exchange
this ten for ten
ones and then

share the ones
equally among

EEC)

the groups.

10

We look how
much in 1

Eroup so the
answer is 14.

Begin with divisions that divide egually with no remainder.

2 1 8
3

4 8 7 2

Mowe onto divisions with a remainder.

8 6 r 2
3

54 3 2

Fimally move into decimal places to divide the total accurately|

1 4 . 6

35‘511+D

Newburgh Primary School

June 2024



Lojlg 1L H'.w“.‘ (=]
Adivision | ee 00 00
(Year N

5+)

Pelinde]

1T
ehea_l

!'EIE-IEIG@ g

@B‘@E’

S

2208 “Oee

: &
-Ca%é% ﬁﬂ:. 12| 2544

= ggh
E

D21

2hd4 - 12
1225 How many groups of
i 12 thousands do we
@ have? MNone

Exchange 2 thousand for
20 hundreds.

EEEE
=T Te T g
2888
SR8
n w1 le , How many groups of
BEEEH .o A
e 12 are in 25

2% _ hundreds? 2 groups.
Circle them.

We have grouped 24 hundreds so can take

them of f and we are left with one.

Exchange the
12% one hundred

24 for ten tens so
" now we have 14

12

7 tens. How many

groups of 12 are in 147 1 remainder £.

Exchange the two tens for
twenty ones so now we have
24 ones. How many groups
of 12 are in 247 2

Children to represent the counters, pictorially
and record the subtractions beneath.

12| 2544

]

Step one- exchange 2
thousand for 20 hundreds
so we now have 25
hundreds.

Step two- How many groups
of 12 can I make with 25
hundreds? The 24 shows the
hundreds we have grouped.
The one is how many
hundreds we have left.

Exchange the one hundred
for 10 tens. How mary
groups of 12 can I make
with 14 tens?

The 14 shows how many tens
I have, the 12 is how many I

grouped and the 2 is how many tens I have
left.

0212

12 12544

Exchange the 2 tens for 20
ones. The 24 is how many ones
I have grouped and the O is
what I have left.

Newburgh Primary School

June 2024




